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SECTION 6 0

Answer any ten questions. Each @%ﬂo@s’le%ﬁree Ekarks
1. What are the difference Qﬁ“een &:?and

. Define grammar. \/

2

3. Design an accepter for @ers @;,b

4. Obtain a regular ex hl@ﬁc% ‘
and b’s of odd I(aém

Write a not %de (&%

Explai %textf

e grarimars.

@Qn Chomsky normal form.

Explain pushdown automata.

© ® N o o

Write a note on turing’s thesis.
10. What are closure properties of CFL ?
11. Write a note on turing machines with a stay-option.

12. Write a note on turin machines with more complex storage. (10x3=30)
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SECTION -B
Answer all questions. Each question carries ten marks.

13. a) Define DFA and convert the following NFA to its equivalent DFA.

OR C\ N
b) i) If ris a regular exwo w&a’q ?gusts some
nondeterministi r tr%qccepg'(
ii) Show that the la\ﬁxagQ
L = {awa : We{a, @
14. a) i) Find a regular ?p: ssQ&) w N

A) {a"b™ 4
Ao 3 G
ii) ?
¢ {ab™:h# m}\s context-free

9 i) Show thatL = {ww“ we Y} is not regular.

ii) Prove that family of regular languages is closed under union, intersection and

concatenation.

15. a) Eliminate useless symbols and productions from G = (V,T,S,P) where
VvV ={S,AB,C} and T = {a, b} with P consisting of
S—aS|A|C
A—a,
B—aa,
C—aCb.
OR

b) Construct an NPDA for the language
L={wefab}” na(w)=nb(w)}.

(4+6)

(5+5)

10




i) Linear Bounded Automata_
ii) Universa) Turing Machine,

OR Cx

b) Explain Turing Mmachine halting pQ&ng

undecidable. \Q

10 s |
(5%10=50) .




